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N FE [ER]) B CEZ

Name

Practice  Think what word is suitable for OQO.

(DThe OO when Hiroshi arrived at the park was 4 P.M.

Answer ( )
@ The OO Yuko spends from the park to home is thirty

minutes.

Answer ( )
@The OO Hiroshi spends from his school to home is twenty

minutes.

Answer ( )

(@The OO when Yuko arrived at school was 8 A.M.

Answer ( )



INFIFE BRI Ly

Name

Practice.  Which are clocks in this group? Mark the katakana with

a circle.

@
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INFE 2 F & (miR) T HT 1T HTARRD LAl

Name

Practice. Do the following calculations.

D 4+3= B 3+3=
@ 2+7= ® 2+0=
@ bH+3= D 2+1=

@ 1+4= b+2=



INF 2 F & (miR) VAT HT AT L) 1T =

Name

Practice. Do the following calculations.

D 6+8= G 3+7=
@ 9+7= ® 7+7=
@ b+6= M 8+5H=

4 4+8= b+5=



INFE 2 F & (miR) 2HT A+ 1 HTARD LAl

Name

Practice. Do the following calculations.

@O 23+5= ® 43+1=
©@ 32+7= ® 23+3=
@ 82+4= D 61+6=

@ 11+8= 50492 =



INF 2 F & (miR) 2HTHT AT LAY 1 =

Name

Practice. Do the following calculations.

D H54+9= B 3b5+5H=
@ 36+7= ® 28+3=
@ 72+9= M 68+6=

@ 24+8= 174 5=



INF2 F & (miR) 2HT 1T HTRRD LAY 2 =

Name

Practice. Do the following calculations.

D 98+8= B 93+8=
@ 99+4+9= ® 95+7=
@ 97+8= D 94+6=

@ 96+8= 090 40—



INF 2 F & (miR) 3HT+2 HTARD LAl

Name

Practice. Do the following calculations.

D 425+34= ® 754+41=
@ 603+95= ® 555+21=
@ 287+12= @™ 802+36=

@ 347+32= 128+ 41 =



T2 F & (miR) SHTH2 MR L)1 =

Name

Practice. Do the following calculations.

D 125+5b6= B 647+ 14=
@ 517+35= ® 523+68=
@ 872+19= M 129+42=

@ 462+28= 939+ 563 =



INF2 F & (miR) SHT+H2 MR LN 2 =

Name

Practice. Do the following calculations.

D 267+39= B 547+ 64=
@ 227+98= ® 683+48=
@ 625+99= @M 829+ 72=

@ 472+28= 139+83=

10



INF2 F & (miR) 3HT 3 HTARD LAl

Name

Practice. Do the following calculations.

@O 261+403= B 428+ 441 =
@ 525+110= ® 152+213=
@ 328+211= @ 802+136=

@ 143+121= 126+ 642 =

11



INF 2 F & (k) SHTH3AHTER) L) 1T =

Name

Practice. Do the following calculations.

O 423+168= B 248+ 442=
@ 777+216= ® 302+229=
@ 402+139= @™ 208+136=

@) 348+ 644 = 026+ 240 =

12



NG 2 FE LRBGRE] VAT — 1T TR T 237l

Name

Practice. Do the following calculations.

@O 9-6= ® 7-3=
@ 4—1= ©® 2—1=
® 8-3= @D 6—4=
@ 5-3= 7—1=

13



NG 2 FE LRBGR] 24T — 1 HTRRD T 237l

Name

Practice. Do the following calculations.

O 36—4= ® 47-3=
@ 66—2= ® 32—1=
@ 97—-5= D 26—4=
@ b55—3= 81 —1=

14



INF 2 FE RBGE] 2HT 1T AT TN 1T =

Name

Practice. Do the following calculations.

O 73-8= ® 57-9=
@ 21-5= ® 26—7=
@ 94—-8= @ 31—-2=

4 42—6= 81 —3=

15



NG 2 FE RBGR] S3HT -2 MR T 23 )7l

Name
Practice. Do the following calculations.
@ 674—52= ® 777-71=
©@ 219—-18= 6 269—37=
(3 553—43= (M) 365—52=

@) 435—-24= 876 —062=

16



INFE 2 FE [BIE] 3HT -2 MR T ) 1 m@

Name
Practice. Do the following calculations.
@D 491—-82= B 597—-88=
© 926—19= 6 262—47=
@ 344—-27= M 761 —52=

@ 476—-27= 891 —12=

17



INF 2 FE [BIE] 3HT-2HTRDT M) 1 m©@

Name
Practice. Do the following calculations.
D 829—66= B 225—83=
2 305—43= 6 462—"72=
3 653—91= (M 552—61=

@ 776—84= 127 —06=

18



INF 2 F & RBGE] SHT -2 M1V TN 2 =

Name

Practice. Do the following calculations.

O 721 -94= B 425—48=
@ bbb—79= ® 362—73=
@ 230—99= @ 788—99=

@) 654—"75= 143 —08=

19



INF 2 F & (FIR] M X MTRRD) BNl

Name

Practice. Do the following calculations.

O 3x2= ® Tx1=
@ 4x2= ® 3x3=
@ 2x2= @M 5x1=
@ 1X3= 2X3=

20



INF 2 F & (FIER] M X HTRRD) E0Y)BHY

Name

Practice. Do the following calculations.

O TX6= B) 4X8=
@ 9x4= ® 3x7=
@ 8x7= @M 5x8=

4 6X5= TX T =

21



INF2FE ZARBYw AR Lot

Name

Practice  Distinguish triangles from quadrangles in the figure below.

7 A 7
=y 7 7
-7 VA VN

Answer

@ ( Triangles ) @ ( Quadrangles )

22



INF 2 FE ETONLODNT

Name

Practic. Think after representing it with a figure.

@

Hiroshi had ten candies. Now he has three because he ate some

of them. How many candies did he eat?

(Figure)

(Identity)

Answer (

©

There were 8 oranges on the table. Now there are 12 oranges on
the table because our friend gave us some oranges. How many
oranges did we received?

(Figure)

(Identity)

Answer (

23




NF 3 FE (k] DN AL+ B

Name

Practice. Do the following calculations.

O 36+2= ® 1.3+8=
@ 43+2= ® 7.6+1=
@ 3.7+56= @D 29+4=
@ 64+3= 55+2=

24



INF3FE (k] BT

Name

Practice. Do the following calculations.

@O 6+35= ® 5+2.1=
@ 34+26= ® 4+32=
@ 7+18= M 1437=

@ 6+31= 4+ 4.4 =

25



INF I FE [(E] P+ E) T =

Name

Practice. Do the following calculations.

@O 28+35= ® 1.7+24=
@ 39+26= ©® 48+44=
® 72+18= @ 13+439=
@ 55+39= 3.7 +54=

26



NF3FE BE] BRI

Name

Practice. Do the following calculations.

O 19-48= ® 53—27=
@ 44—26= ©® 65-32=
® 17—58= @ 84—15=
@ 39-81= 78 — 4.4 =

27



INF 3 FE RBGER] DR L — B

Name

Practice. Do the following calculations.

@O 324-9= ® 53.6—4=
@ 136—4= ©® 486—9=
® 243-6= @ 745-8=
@ 424-8= 333—4=

28



INF3FE BGER] D AL — BT AL

Name

Practice. Do the following calculations.

@D 22.1-92= B 63.6—57=
@ 33.6—7.7= ® 415-39=
® 526—38= @ 76.1 —85=
@ 80.6—62= 92.6— 4.7 =

29



INF3FE BER] D2 G — /N8 AL

Name

Practice. Do the following calculations.

O 2744—63= B 66.66—54=
@ 36.64—32= ® 41.26—1.1=
@ b6.17—34= @D 97.94—65=
@ 79.26—6.1= 60.62 =43 =

30



INF3FE BE] DR L — N2 AL

Name

Practice. Do the following calculations.

O 222-9.156= ® 364—7.12=
@ b52.7—-3.58= ® 782—-9.08=
@ 872-8.12= @M 239—4.62=

@ 425—607= 64.6 —0.04 =

31



INF B FE (FIE] 2HT X MHTRRD) BN L

Name

Practice. Do the following calculations.

D 31 x2= B H2X1=
@) 22XxX4= ® 23x3=
@ 13X3= M 11 X4=

4 42X2= 31 X2=

32



INFZFE (FIE] 2HT X HTRRD) E0Y)BHY

Name

Practice. Do the following calculations.

D 63x4= B T2X7=
@ 87XxbH= ® H2xX6=
@ 39x6= (M) 82x9=

4 42X8= 65X 3=

33



INF B FE (FIE] 2HT X2 HTR) E0N)BHY

Name

Practice. Do the following calculations.

D 72%x12= B 69X 18=
@) 48x36= ® 39X72=
@) 98X b6b6= (M 57 X25=

4 37x21= 63 X b4 =

34



NFE 3 FE [ZBITA) [eiE) H#T+1 M) Eav)aelL

Name

Practice. Do the following calculations with an abacus.

O 2+2= ® 1+4=
@ 1+2= ® 1+5=
@ 3+b6= @ 2+3=

@ 2+4+5= 4+5=

35



INFEZFE (LI mIE) 1 HT +1HTR) E03)HY

Name

Practice. Do the following calculations with an abacus.

D 8+6= B T+6=
@ 7+56= ® 6+8=
@ H+6= @D 9+2=

4 4+8= 0+8=

36



INFZFE (ZAHILA)iR] 2HT + 1 HT

Name

Practice. Do the following calculations with an abacus.

D 42+7= B 24+4=
@ 22+6= ® 30+2=
@ 40+3= @D 28+9=

4 34+6= 26+5=

37



INFEZFE (LI 0] 2 HT +2 HT

Name

Practice. Do the following calculations with an abacus.

D 39+16= B 57+34=
@ 42+15= ® 25+18=
@ 184+ 32= (M 26+34=

@ 54+36= o7T+23=

38



INFEIFE (ZLIFABE] 1 —1 @

Name

Practice. Do the following calculations with an abacus.

@® 9-5= ® 6-1=
@ 7-2= ® 9-3=
@ 8-5= @ 7-5=
@ 6-3= 9-8=

39



INESFEE (ZBILL)URE] 1 HT -1 HO

Name

Practice. Do the following calculations with an abacus.

@O 8-4= ® 6-2=
@ 7-3= ©® 6-3=
® 9-6= @ 6-4=
@ 7-4= 8-2=

40



INFEZFE (ZBLILALIURE) 2H7 —1 HTRDT 3B

Name

Practice. Do the following calculations with an abacus.

O 33—-4= B 46—-8=
@ b4—7= ® 30—1=
@ 93—-5= @M 26—-9=

@ 51-3= 80 — 4 =

41



INFEZFE (LA URIE) 2 HT —2 #T

Name

Practice. Do the following calculations with an abacus.

O 40-24= ® 56—44=
@ 52—11= ©® 21—15=
® 32-21= @D 46—13=

@ 14—-12= 64—12=

42



NF3FE (H] HOERCFZE

Name

Practices Calculate the diameter and radius of the following circles.

@ @

@Diameter Radius @Diameter Radius

@Diameter Radius @Diameter Radius

43



INF 4 FE (miR] N2 4N ECT AL

Name

Practice. Do the following calculations.

@O 1.85+54= ® 7.65+14=
@ 596+03= ® 8.95+04=
® 3.74+1.6= @ 414+35=

@ 254+1.7= 0.57+8.4 =

44



AN 4 (k] NEC2 B+ NEC2 R B | @

Name

Practice. Do the following calculations.

O 1.85+56.06= ® 5.35+348=
@ 516+035= ® 2.58+1.03=
@ 4.68+225= @D 6.66+325=

@ 218+1.29= 4.68+4.14 =

45



INF 4 FE RBER] D2 L — /N2 AL

Name

Practice. Do the following calculations.

@O 2223-9.12= B 42.54—3857=
@ 52.713—-352= ® 62.57—3.74=
@ 23.04—10.13= @ 17821 —-981=

@ 32.15—14.28= 1247 =221 =

46



IINF 4 FE (FIE] DR AL X B

Name

Practice. Do the following calculations.

O 7.2x19= ® 64X 24=
@ 3.6%27= ® 5.6X41=
B 8.3X42= @ 72%x23=

@ 42%X13= b.6 X 34 =

47



INF 4 FE (FE] BRI

Name

Practice. Do the following calculations.

D 23x48= B) 48X88=
@) b6X6.7= ® 67%X6.7=
@ 71 X9.3= (M) 81X95=

4 63x8.7= hH X 3.8 =

48



NFAFE (BRZE] AT HMTHE)LL

Name

Practice. Do the following calculations.

O 8+2= B 4+2=
@ 9+3= ® 7+7=
@ 5+5= @ 8+4=
@ 6+2= 3+1=

49



NFAFE (IRZE] 11 HTHENDY

Name

Practice. Do the following calculations.

@D 5+3= B 6+4=
@ 9+4= ® 7+5=
@ 8=+5H= M 9+6=
@ 4+3= 8+3=

50



NFAFE (RZE] 2H7 -1 MTHE)LL

Name

Practice. Do the following calculations.

D 96+3= B 68+4=
©@ 75+3= ® 50+5=
@ bb+bhH= M 44+2=

@ 72+9= 84 +7=

51



NFAFE (IRZE] 2HT 1 HTHE)DY

Name

Practice. Do the following calculations.

D 86+6= B bb+4=
@ T6+7= ® 35+2=
@ b7+4= M 77+6=

@ 70+3= 05 -6=

52



NFAFE (RZE] 2HT -2 HM7HE) 0L

Name
Practice. Do the following calculations.
O 84+21= ® 64+16=
@ 39+13= ® 50+10=
@ 48+12= @ 78+13=
@ 77+11= 60+12=

53



NFAFE (IRZE] 2HT -2 HTHE)DY

Name

Practice. Do the following calculations.

D 85+21= ® 53+17=
@ 68+23= ©® 66+14=
@ 47+13= M 82+59=
@ 28+12= 08 +~17=

54



NFAFE (RZE] SAT -1 HTHE)LL

Name

Practice. Do the following calculations.

D 765+5= B 684+6=
@) 642 +-3= ® 522+9=
@ 812+-4= M 214+2=

4) 456+3= 651 -7 =

55



NFAFE [IRZE] SHT 1 HTHTNDY

Name

Practice. Do the following calculations.

(D 635+2= B 568 +T7=
@) 846+-4= ® 921 +6=
@) 688+-bH= (M 146+8=

4) 427+-8= 754+~ 3=

56



NFAFE (RZE] 3AT-2HMTHE)LL

Name

Practice. Do the following calculations.

D 575+23= B 459+17=
@ T6b+15H= ® 384+12=
@ 810+-18= (M 625+25=

@ 154+14= 605 +37=

57



INF 4 FE (BRZE] SHT 2 H1HTNDY

Name

Practice. Do the following calculations.

D 575+13= B 3b4+14=
@ 472+15= ®) b26+28=
@ 877+31= M 754+31=

@) 652+23= 124 +24 =

58



NF4AFE (BRG] BRERYER 72O

Practice

Name

Chose the development views which can be a cube from

the development views below. Write the correct letters.

7

A 7

(Answer)

59




INF 4 FE (BRI TR] RERYEER7 Q)

Name

Practice. Chose the development views which can be a cube from

the development views below. Write the correct letters.

7 A 7

(Answer)

60



WNFAFE (@A) RE AR

Name

Practice How many square centimeters are there in each figure?

S
S

(Answer)

®

®
©

61




N4 FE (@R @BRORDTHOLT RO

Name

Practicel How many square centimeters are there in each figure?

@

4cm
dom 4¢em
bem
3cm
8cm
3cm 3cm
3cm 3cm
bem em bem
Qcm
(Answer)

62



INF 4 FE BER] misan

Name

Practicee. Round to the nearest unit ten.

® 72 ® 232

Answer. Answer.

@ 52 ® 755

Answer. Answer.

@ 81 @ 456

Answer. Answer.

@ 67 249

Answer. Answer.

63



INF D F A [FEIER] DB I XONECT i

Name

Practice. Do the following calculations.

@O 387x25= ® 7.6X14=
@ 1.8X53= ® 85%X04=
B 9.6x42= @ 4.1 X65=
@ 25x1.7= BT X 2.4=

64



NF D F A [FEIER] DB I XONE2 i

Name

Practice. Do the following calculations.

D 38X%x214= ® 7.6%x5b45=
@ 29X%X3.75= ©® 2.5X3.27=
@ 65X1.03= M 41 %x219=

@ 29x1.72= 5.1 X 0.84=

65



NF D F A [FEIER] DB i XONECT i

Name

Practice. Do the following calculations.

@O 2.14X38= ® 436X 14=
@ 2.65%3.7= ® 895%04=
® 7.37x13= @D 144X 46=

@) 358x2.7= 0.57X0.4 =

66



NF D F A [FEIER] DEC2 I XONE2 i

Name

Practice. Do the following calculations.

D 3.14X271 = ® 1.65%x4.29=
@ 1.41%x1.73= ©® 3.95X042=
@ 047X084= M 4.04X217=

@ 154 %x1.74= 2.57 X284 =

67



JNEFE D

Practice

@
@

®

F4& (@mf] =ABOBBEDORDT

Name

Calculate the area of the following triangles.

/ 6cm
Answer.
\
7¢

m

14¢

/ Answer.

8cm

/J\E)C"‘
/

Answer.

18cm

68



INFEHFAE (@A) FITwABO@mBEDORDYT

Name

Practice. Calculate the area of the following parallelograms.

@®
'/ cm
/ Answer.
Qcm
/ 8cm
/ Answer.
— 15cm
/ 10cm
Answer.
\ /

69



NFEFE (K] WRORHT

Practice

@ 12

@ 56

@ 42

Name

Find all divisors of the following number.

Answer.

Answer.

Answer.

Answer.

70



NFEFE RERORDT

Name

Practicel Find the three common multiples of the two numbers in

ascending order.

D 2 and 3

Answer.
@) 4 and 5

Answer.
@ 7and 4

Answer.
@ 5and 10

Answer.

71



MNFDEFE BEREAERER DB

Name

Practices.  Find the three common multiples of the two numbers in

ascending order. And find the smallest common multiple.

@D 6and 12
Answer. (_common multiples )
(the smallest common multiples )
@) 7and 14
Answer. (_common multiples )
(the smallest common multiples )
@ 5and 15
Answer. ( common multiples )
(the smallest common multiples )
@ 6 and 9

Answer. (_common multiples )

(the smallest common multiples )

72



N5 EE FHORHFH

Name

Practice Calculate the average of the following numbers.

(D 2 and 6

Answer.
@) 8 and 4

Answer.
@ 6and 10

Answer.
@ 8and 5

Answer.

73



NFEEFE [FE] ZACHOVERUERK

Name

Practice.  Think which is more crowded. And fill in [] with correct
numbers or words.

P
' e® o6
o
3m .

/f" 2m
o

Court A Court B

Think which is more crowded. And fill in [] with correct

numbers or words.

N

¢ ® ([
o / o

0o @ :
@

There are O in the court A and @ in the court
B. The court Ahas @ per 1 square meters, and the court
B has @ per 1 square meters. Thus, ® is

more crowded.
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MNFELEFE [FE] Z2CHVERDNEK

Name

Practicey. Think which is more crowded. And fill in [] with correct

numbers or words.

e B

..2m

Court A Court B

Think which 1s more crowded. And fill in [J with correct

numbers or words.

There are O in the court A and @ in the court
B. The court Ahas @ per 1 square meters, and the court
B has @ per 1 square meters. Thus, ® is

more crowded.

75



NFELEFE [FE] Z20HVVNERDEK

Name

Practicey. Think which is more crowded. And fill in [] with correct

numbers or word.

L
X K
® o

J

3m

e ® O 0 O
N
0.0

o
oo
®e

K.o’%

Court A Court B

Think which is more crowded. And fill in [] with correct

numbers or words.

There are O in the court A and @ in the court
B. The court Ahas ® per 1 square meters, and the court
B has @ per 1 square meters. Thus, ® is

more crowded.
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INFE D F A& (RX) KRB TZDOD

Name

correct numbers or words.

Aminute | T i o
later

T
!

-

Practice.  Think which will be empty sooner. And fill in [J with

A minute
later

=

Tank A Tank B

Think which is more crowded. And fill in [ 1 with correct

numbers or words.

The tank A has O units of scale of water and the tank B

has @ units of scale of water. @

units of scale of

water decrease from the tank A, and @

units of scale

of water decrease from the tank B. Thus, ®

empty sooner.
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INFE D F A& (RX) KRB TZDQ

Practice

Name

Think which will be empty sooner. And fill in [ with

correct numbers or words.

A minute
later

A minute
later

Tank A

Tank B

Think which i1s more crowded. And fill in [ ] with correct

numbers or words.

The tank A has O

has @

units of scale of water. @

water decrease from the tank A, and @

of water decrease from the tank B. Thus, ®

empty sooner.

78

units of scale of water and the tank B

units of scale of

units of scale

will be




INFE D F A& (RX) KRB TZDO

Name

correct numbers or words.

A minute | | [—
later

T F

Practice.  Think which will be empty sooner. And fill in [J with

e ] A minute

[ later

Tank A Tank B

Think which i1s more crowded. And fill in [ ] with correct

numbers or words.

The tank A has O units of scale of water and the tank B

has @ units of scale of water. @

units of scale of

water decrease from the tank A, and @

units of scale

of water decrease from the tank B. Thus, ®

empty sooner.
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N D

Practice

@

F4 BIFBOMDOES

Name

Calculate the length of the following sector.

What is the length of the following sector whose radius is
4 centimeters and central angle 1s 60 degree. Calculate to

two places of decimal. However, regard pi as 3.14.

©

Answer.

What is the length of the following sector whose radius is
5 centimeters and central angle is 80 degree. Calculate to

two places of decimal. However, regard pi as 3.14.

Answer.
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NF O FE (AELHAEDKRME] AIEDOMRTE

Name

PracticeCalculate the volume of the following quadrangular prisms.

@

Tem
I"‘.\‘ ,,,,,,,,,,,,,,, !
— 3am Answer.
4cm
5cmi 77777777777
- ~ 4cm
8cm Answer.
10cm|
o '//SCm
50m Answer.
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NF O FE (ARECHEDHRME] HAIZOMKME

Name

Practice Calculate the volume of the following round columns.

However, regard pi1 as 3.14.

@

Y
S

7 cm

4cm” (Radius)

Answer.

6com

5om  (Radius) Answer.
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INF 6 F A (] o E

Name

Practice  Calculate the distance.

@

The ratio of the distance from the point A to the school to the
distance from the point B to the school is 7:3. What is the
distance from the point B to the school when the distance from
the point A to the school is 14 kilometers?

Answer.

The ratio of the distance from the point A to the school to the
distance from the point B to the school is 5:3. What is the
distance from the point A to the school when the distance from
the point B to the school is 15 kilometers?

Answer.
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NFEOFE (8] TROLONITE

Name

Practicel Calculate the area of the following @O « @ - 3.

@

9
—cm
|4
p /’l‘
—cm Answer.
3
—cm
9c:m
2 Answer.
Answer.
5
—=Ccm
4
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NF 6 FE [(ZAM] ML

Practicel Check if the three triangles below are line symmetry or

Name

point symmetry. And tabulate them.

(1 ) Isosceles triangle

( 3 ) Right-angled triangle

( 2 ) Equilateral triangle

Line symmetry

The number of the

axis of the symmetry

Point symmetry

Isosceles triangle

Equilateral triangle

Right-angled triangle
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NF 6 FE (wAMR] MR T R

Name

Practicel Check if the four squares below are line symmetry or

point symmetry. And tabulate them.

(1) Lozenge (2) Rectangle

(3) Parallelogram (4) Regular square

The number of the

Line symmetry ) Point symmetry
axis of the symmetry

Lozenge

Rectangle

Parallelogram

Regular square
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NG AR

Name

Practicel Answer the symmetrical points to the point B and the point M.

Answer the symmetrical linese to the line DC and the line XW.

A K

@The symmetrical

point to the point B.

@The symmetrical

side to CD.

@The symmetrical

point to the point M.

@The symmetrical

side to XW.




PA1NFE T 4 ER]FRY S
@ Time point (@ Time interval (3 Time interval (@) Time point
P2 /NFET F & Bt TLY)
©7 @7
P3 YNF2F & [oik] 1THT +1 HTR) Ev)L
7 @9 @8 WH ®6 ®2 O3 ® 8
P4 NF2F & [HoiR] T HTHI HTE) LN 1T =
D14 @16 @11 @12 ®10 ® 14 @13 @ 11
PS5 YNF2F & [oik] 2HT+H1 HTR) Ev)L
D28 @39 @8 @DWI19 ®44 ® 20 @61 B 52
P.6 INF 2 F & [JoiR] 2HT+H1 MRV LN 1T =
D63 @43 @81 @3 ®40 ®3 D14 ©® 22
P.7 JNF 2 F & [JoiR] 2HT+H1 KRV LN 2 =
D 106 @108 G 105 @ 104 @ 1001 ® 102 @ 100
101

P8 /INF 2 F & [Hmik] 3HT +2 M7 L)L

88



@ 459 @ 698 @ 299 @ 379 ® 795 ® 576 (@ 838
169

PO /INF 2 FE(HRISHT +2 M) L3 1 =
@ 181 @ 852 (891 @ 490 ® 661 ® 891 (D 171
992

PA0 /N5 2 & [Wnik)] SHT+2HTRRN L) 2 =
@ 306 @ 325 @ 724 @50 ® 611 ® 731 (D 901
222

PA1T VINF 2 & [Amik] 3HT +3HTRRY) L3l
D 664 @ 635 (B39 @ 264 & 869 ® 365 (D 938
768

P12 /N5 2 & [Hnik)] SHT+3HTRN L) 1T =
@ 681 @ 993 @ 541 @ 992 ® 690 ® 531 (D 344
771

PA3 /INF 2 F& [RBIR] 1 HT— 1 TR T )L
D3 @3 @5 W2 ®4 ®1 ©2 ®6

P14 /T2 F & [BIER] 24T — 1T HTRRD T )7L

89



D32 @64 @92 @52 @4 ®33 D2 O 80
PAO /N2 F & [BIR] 2HT—1THTRI TN 1T =
D65 @16 @8 W36 @48 ® 19 D29 @ 78
PA6 NF 2 FHE [RBIE] 3HT -2 HT&RD T 2v)7L
@ 622 @ 2001 510 @ 411 & 706 ® 232 (D 313
814
P17 /NF 2 F & [BIE] SHT—2HT&) TN 1 =O
@ 409 @ 907 @ 317 @ 449 ® 509 ® 215 (@D 709
879
PA8 "NF 2 F & [BUE] SHT—2HTRRIT ) 1 =@
@ 763 @ 262 D b62 @ 692 & 142 ® 390 (D 491
71
P19 /INF 2 F & [BIER] SHT—2HTRN TN 2 =
@ 627 @ 476 131 @ 579 ® 377 ® 289 (D 689
85
P20 /INF 2 & [FIR] 1 MHT X T HTRR) vl

D6 @8 @4 W3 ®7 ®9 @5 O

90



P21 /N 2 SR [FIETHT X1 ATRR) L3 B

D42 @336 @5 @3 ®3R ®21 @40 G449
P22 ¥ 2 F %k ZABLWATORSITL)

QA x7a @77 FHF 742

P23 /NE 2 FE ETONLUDONTY
s 10 candies \

o _/

3 candies

@ (Figure)

Jcandies

(Identity) 10-3=7  Answer(7 candies)
/ 12 oranges \

_/

8 oranges L] oranges

@ (Figure)

(Identity) 12-8=4  Answer (4 oranges)
P24 /NF 3 F & [JmiE] T AL+ B
D56 @63 @87 W94 (B 93 ® 86 @D 69
7.5
P.25 /INF 3 F & [oik] B+ /DNEC T
D95 @56 @88 W91 BT ® 72 @ 47
8.4
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P26 /N5 3 F&E [(WniR] DB+ DR AR N 1 =
D63 @65 @90 W94 B4 ® 92 @ 52
9.1

P27 /NF 3 FE [BIE] BRI
@O 142 @ 414 112 @D 309 @ L3 ® 61.8
@ 825 73.6

P.28 /INF 3 F & [RIE] /MU AL — B
@ 234 @ 696 @ 183 @ 344 @ 496 ® 396
@ 665 29.3

P29 /INF 3 F & [RBIR] M AL — DT
@ 129 @ 269 @ 488 @ 744 @ 5719 ® 376
@ 67.6 87.9

P.30 /NF 3 F & [RBIE] D200 — DT
@ 2114 (@ 3344 (@ 5337 @ 7316 & 6125 ® 40.15
@ 91.44 61.32

P31 /INF 3 F&E [BIER] /DB L — /2 fin

@ 1306 @ 4912 @ 79.08 @ 3643 & 2928 ® 69.12
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@ 19.28 59.56
P.32 /INF 3 FE [RIE] 2HT X T HTRR) Lav) el
62 @88 @39 W84 B®H ®O D44 ® 62
P.33 /INF 3 F & [RIE] 2HT X T AT L0M)HY
@D 252 @ 435 (234 @ 336 ® 504 ® 312 (D 738
195
P.34 /NF 3 FE [RIE] 2H X2 HTRR) LB
@ 864 @ 1728 @ 6468 @ 777 ® 1242 (© 2808
@ 1425 4032
P.35 /NF 3 FE(ZLITA)(HiR]T AT +1 HTR) L)L
D4 @3 @8 W7 @5 ®6 W5 ®9
P36 NF 3 FE (ZAILAYmiE] 1 HT +1 HTAR) 03B
14 @12 @11 @12 ®13 ®14 @D11O 17
P37 /NFE 3 F & [2AHITA)miER] 2#T+1 HT
@O 49 @ 28 @ 43 @ 40 ® 28 ® 32 @ 37 ® 31
P.38 /NFE 3 F & [2AHITA)miER] 2 #T+2 #7

@ 45 @57 @ B0 @9 ® 91 ® 43 D 60 ® 80
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P39 /¥ 3 F £ [(ZBILA)AGE] 1AL —1 @
D4 @5 @4 W3 @4 ®6 @2 ®1
P40 /N 3 F & [ZAIXIA)RZE] 1 —1 2@
4 @4 @3 W3 ®4B3I W206
P41 /INF 3 F & (ZLILAL)UBZE] 24T — 1 MRV T N HY
D29 @ 47 @88 @ 48 B 37 ® 29 M 16 ® 76
P42 /NF 3 FE (ZAILZAIURBE] 2 HT—2 47
D16 @41 @11 @2 12 ®6 @33 O 5H
PA3 VNF 3 F & [H] HOERZRY¥RE
D B & bem ¥4 12cm @ B 1% 8cm ¥ 4% 4em
@ ®E % 5em ¥4 25cm @ B bem 4% 3em
P44 NF 4 FE [Hoik) N2+ i
D 725 @ 626 @ 534 @ 424 B 905 ® 9.35
D 7.64 8.97
P4AS NFE A4 FHE [Hoik) D2 L+ R 2 niR) LA 1T =
D 691 @ 551 @ 693 @ 347 (& 883 ® 3.6
™ 9.91 8.82
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P46 /N4 F % [BIER] MR 2 L — /DR 2 4L
@D 1311 @ 4921 @ 1291 @ 1787 (& 397 ® 5883
M 684 10.26
PAT /NF 4 FE [FIE] ML X BEK
D 1368 @ 972 @ 3486 @ 546 (B 1636 ® 229.6
M 165.6 190.4
PA8 /N 4 FE [FiE] BRX/DE I
D 1104 @ 3752 @ 6603 @ 5481 (B 4224 (B 4489
@M 769.5 212.8
P49 /N4 FE (BRE) T AT -1 ATHE)RL
4 @3 @1 @3 ®2 ®1 @®2 ©®3
PO /NF 4 F & [(IRZE] VAT -1 HTHEYDHY
@ 1 with a remainder of 2 (@ 2 with a remainder of 1
1 with a remainder of 3 @ 1 with a remainder of 1 & 1
with a remainder of 2 (® 1 with a remainder of 2 (@ 1 with
a remainder of 3 2 with a remainder of 2

POT YINF 4 F & [IRE] 2HT 1 HTH TN AL
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D32 @2 G111 @8 G117 ®I1WO @2 G 12
PO2 /N4 FE (IRZE] 2HT 1 H1HENDY

@ 14 with a remainder of 2 (@ 10 with a remainder of 6
14 with a remainder of 1 @ 23 with a remainder of 1 ® 16
with a remainderof 2 (© 17 with a remainderof1 (@ 12 with
a remainder of 5 15 with a remainder of 5
PO3 /N4 FE (RFE] 24T -2 /THF) 0L

4 @3 @4 W7 ®4 ®5H W6 ®5
PO4 N4 FE (RZE] 2HT 2 H1HENDY

@ 4 with a remainder of 1 @ 2 with a remainder of 22
3 with a remainder of 8 @ 2 with a remainder of 4 & 3 with
a remainder of 2 (© 4 with a remainder of 10 (D 1 with a
remainder of 23 5 with a remainder of 13
PO /NF A FE (IRIE] SHT -1 HTHENLL

D153 ®@ 214 3 203 @ 152 @ 114 ® 58 @D 107

93

P.56 INF 4 FE (IRE] SHT -1 HTHTNDHY
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@ 317 with a remainder of 1 @ 211 with a remainder of 2
@ 137 with a remainder of 3 @ 53 with a remainder of 3 ©®
81 with a remainderof 1 ® 153 with a remainder of 3 @
18 with a remainder of 2 251 with a remainder of 1
PO7 /NF A FE (RIER] SHT -2 HTHE)LL

D25 @51 @4 @O ®»27 ®32 D2 @15
P.O8 /N4 & (RZE] 3HT -2 H1HENDHY

@ 44 with a remainder of 3 (@ 31 with aremainderof 7 3
28 with a remainder of 9 @ 28 with a remainder of 8 ® 25
with a remainder of 4 ® 18 with a remainder of 22 (D 24 with
a remainder of 10 5 with a remainder of 4
PS9 NF 4 FE (R ETR] BREARYER7 20

7L
P60 /NF 4 F & (IR EHIR] BREARYERY ZQ

7T
POT NF 4 F4E (@] RY M2

@D 12cm? @ 17cm? @ 8m? @ 9cm? (&) 10cm?
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P62 /N 4 FE (BEMH) BEOROT O I RO
D 36cm? (@) 45cm?
P.O3 /NFE 4 FE (] mEAXN
D70 @5 G 80 @ 70 ® 230 ® 760 @ 460 & 250
P64 /INF D FE [FRIFE] DR ALX N L
@D 925 @ 954 @ 4032 @ 425 B 1064 ® 34
M 26.65 13.68
P65 /INF b F & [FIE] ML X2 1L
D 8.132 @ 10875 @ 6.695 @ 4988 & 4142 (® 8175
@™ 8.979 4.284
P66 /INF b F & [FIE] D2 A0 XU L
D 8.132 (@ 9805 @ 9581 @ 9.666 B 6.104 (® 3.58
D 6.624 3.828
P.OT /INF B & [RE] N2 AL X NE2 L
D 85094 (@ 24393 (B 03948 @ 2.679% (B 7.0785
©® 1.659 (D 8.7668 '7.2988

P68 "NFEHF4& [mME] ZABO@mBEDRKDS
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@D 21ecm? @) 56cm? (B 4bcm?

P.69 NF O F & (@] FITWABOBBEDRDT
@D 63cm? @) 120cm? @ 60cm?

P70 JNF b F & [KE] WEDOKRHT
@ 1-2:34:6:12 @ 1:2:4-7-14-28-66 @ 1-3:5-15
@ 1-2:3-6-7-14-21-42

P71 /NFSLFE RERDORDY
D 6-12-18 (@ 20-40-60 (@ 28-56-84 @ 10-20-30

P72 JNFE D FHE BREANBRER DN AIEEK
(D common multiples 122436 the smallest common multiples
12 @ common multiples 14 - 2842 the smallest common
multiples 14 & common multiples 15-30-45 the smallest
common multiples 15 @ common multiples 183654 the
smallest common multiples 18

P73 'NF b F & FH)DRKDHT
D4 ®@ 6 B 8 @ 65

P74 NF o FE [FE] ZACHOWEREERK
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D18 @16 ®3 @ 4 ® CourtB

P75 NFEDLFE [FE] ZLCHOERL IR
D18 @14 3 @ 35 ® CourtA

P76 NFE D FE [FE] ZLCH VIR
D21 @ 18 @ 35 @ 45 ® Court B

P77 /¥ 6 F4& (&RS] KESV 720D
@5 @8 @1 @2 ® TakB

P78 /¥ 6 F 4 [&RS] KEIVI7ZDQ)
D5 @6 @1 @15 @ TankB

P79 /N¥ 5 F &£ [BRX) REIVIZDE
D75 @3 @15 @05 B Tank A

P80 /NFE D FHE BIFHDONDES
D 4.19cm @) 6.98cm

P81 /N 6 F & [AIEYHEDOERR] AIEDOKRE
D 84cm®* @ 160cm® @) 150cm3

P82 /N 6 FE [AAEYHIEOERE] HIEDKRA

D 351.68cm3 @ 471cm3
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P83 /NF 6 F 4 [Lk) LbORDFH

@D 6km @ 13km
P84 /N 6 FE [(HRK] DRI ONTE
2 2 ﬁ 2 E 2
@D 7 Cm @ il ® el

P85 /NF 6 FE (= H )

P AN PIR

Line symmetry

The number of the

axis of the symmetry

Point symmetry

Isosceles triangle O 1 X
Equilateral triangle O 1 X
Right-angled triangle X X X

P86 NF 6 F & [mAM] ALK

) The number of the .
Line symmetry ] Point symmetry
axis of the symmetry
Lozenge O 2 Q
Rectangle O % Q
Parallelogram X 0 O
Regular square O 4 Q

P.87 /INF 6 AR AR

@D Point G @Line EF @ Point Q@ @ Line ST
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2017 10 A 31 B3R &

REEERFE SAEOTLLORELEZLE
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